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75.1cm-Hg 1021.36gw/ cm

X cm Y chm cm gw/ cm
1 2 20 99. 3 993
2 2 20 96. 4 9614
3 2 20 92. 3 923
4 2 20 98. 5 985
5 2 20 99. 0 990
6 2 20 93. 8 938
7 2 20 95. 8 958
8 2 20 99. 9 999
9 2 20 94 .5 945
1 2 20 102. 4 1024
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75.1cm-Hg 1021.36gw/ cm

http://science.wfsh.tp.edu.tw/phychem/report/880506/880506.htm
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X cm Y chm cm gw/ cm
1 1 10 103. 9 1039
2 1 10 117.5 1075
3 1 10 118. 5 1085
4 1 10 104. 4 1044
5 1 10 103. 5 1035
6 1 10 97. 3 973
7 1 10 94 .5 945
8 1 10 99. 7 997
9 1 10 103. 6 1036
10 1 10 107. 6 1076
1
161~166 90
97~103 90
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